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QUESTION 1

Rich wants to create a custom workflow actionthat writes a message to an external audit log whenever the action is
invoked. Rich needs to perform each of the following steps, except which one?

A. Create the custom workflow action class that extends the
com.ibm.workplace.wcm.api.custom.CustomWorkflowAction Interface.

B. Reference the custom workflow action in the IBM Web Content Manager WCMConfigService service.
C. Create the necessary plugin.xml file to register the action with the IBM WebSphere Portal server.
D. Deploy the class to the WebSphere Portal server as an EAR or WAR application or a stand-alone JAR file.

Correct Answer: B

QUESTION 2

An Authoring Tool component can be added to any of the technical assets listed, except for which option?
A. Menu component

B. Presentation template

C. Navigator component

D. Authoring template

Correct Answer: D

QUESTION 3

An IBM Web Content Manager administrator has created a new content library, but does not see the library in the Web
Content Manager Authoring Portlet.

Which of the following reasons would best explain why this would occur?
A. The administrator forgotto grant himself/herself the contributor role to the content library.
B. The administrator forgot to set access control at the content root level, thereby resulting in no access being allowed.

C. The content library is not listed as one of the \\'Selected Libraries\\' in the Web Content Manager Authoring Portlet
settings.

D. Only content libraries which have at least one content item will appear.

Correct Answer: C
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QUESTION 4

Jennifer is a developer creating a new authoring template to allowcontent creators to create job postings. One of the
fields that needs to show on the authoring template is Salary. Which of the following element types is appropriate for this
type of information?

A. Text

B. Decimal

C. Number

D. Currency

Correct Answer: C

QUESTION 5
Which of the following best describes the role of a reject stage:

A. When an item is rejected, a reject stage can be triggered that executes pre-defined actions. Once the actions have
beenexecuted, the item is returned to the first stage of the workflow.

B. When an item is rejected, a reject stage can be triggered that executes pre-defined actions. Once the actions have
been executed, the item is returned to the previous stage of the workflow.

C. When an item is rejected, a reject stage can be triggered that executes pre-defined actions. Once the actions have
been executed, the item is returned to the first stage of the workflow and the content author is notified.

D. When an item is rejected, a reject stage can be triggered that executes pre-defined actions. Once the actions have
been executed, the item is returned to the stage specified in the reject stage.

Correct Answer: A

QUESTION 6

Which of the following statements is not true about site areas?

A. Site areas can be used to build the site framework within which content items can be grouped.
B. The relationships between authoring templates and presentation templates are set in site areas.
C. Content items can be saved within multiple site areas and multiple site frameworks.

D. Site frameworks can contain multiple top-level site areas.

Correct Answer: D
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QUESTION 7

Kellan is writing a JSP using the Query API. He will be able to query content in the IBM Web Content Manager
repository.

He will be able to sort the results of a Query API by all of the following attributes except?
A. Author

B. Date modified

C. Workflow Stage

D. Date created

E. Item name

Correct Answer: C

QUESTION 8

Janet is a content creator. She cannot perform the Restart Workflow action for a published item that she created. Which
of the following options best describes why this is occurring?

A. She is not an administrator; only an administrator can restart the workflow.
B. She does not have Approve access to the content item.

C. She has the content item open in Read mode.

D. Restart Workflow is not a valid action for a published content item.

Correct Answer: B

QUESTION 9

Meredith has been asked to set up an advanced search form. The search form should allow the users to search using
the following IBM Web Content Manager metadata fields: AuthorsCategory Which of the following examples
accomplishes this task?

A. Search Authors:

Search Category:

B. Search Authors:
Search Category:

C. Search Authors:
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Search Category:

D. Search Authors:
Search Category:

Correct Answer: C

QUESTION 10

Which of the following lists provides the correct set of tasks to perform to integrate IBMWebSphere Portal Search into a
stand-alone (non-WebSphere Portal) website?

A. Create a Search Collection in WebSphere Portal Search. Mark all relevant site areas searchable. Create a Search
Form. Create a Search component for displaying results.

B. Create a Search Collection in WebSphere Portal Search. Mark all relevant site areas searchable. Configure and
deploy the Search Center for users to input search criteria. Create a Search component for displaying results.

C. Create a Search Collection in WebSphere Portal Search. Mark all relevant site areas searchable. Create a Search
component for displaying results.

D. Create a Search Collection in WebSphere Portal Search. Mark all relevant site areas searchable. Configure and
deploy the Search Center for users to input search criteria. Configure and deploy the Search and Browse JSP for
displaying results.

Correct Answer: A

QUESTION 11
Mike is the content administrator and wishes to syndicate a library to a virtual portal. How does he best achieve this?
A. He can set up a syndication relationship directly to the virtual portal, but only using the GUI interface.

B. He can set up a syndication relationship directly to the virtual portal when creating the syndicator using either the GUI
or the command line.

C. He cannot syndicate to a virtual portal. He can only move content using import/export functionality.
D. He can set up a syndication relationship directly to the virtual portal, but only using the command line interface.

Correct Answer: B

QUESTION 12
While creating a syndicator-subscriber relationship, all the followingsteps are necessary, except:
A. Both the subscriber and syndicator are running and can access each other over a network.

B. On the subscriber server, the administrator has to create a credential vault slot to allow access to the syndicator
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server.

C. Thevalue of the variable \\'deployment.subscriberOnly\\' in the IBM Web Content Manager WCMConfigservice should
be set to true on the subscriber server.

D. Ensure that the syndicator and subscriber are running the same version. For example: Syndication will workbetween
versions 7.0.0.0 and 7.0.0.1, but will not between versions 7.0.0 and 8.0.0.

Correct Answer: C

QUESTION 13

Abi is a developer. The HR department wants to create job postings that are made available on both the company
intranet and public websites. Because the two sites look different, the postings need to have different visual
representations on the each of the sites.

Which one of the following statements allows her to accomplish this task?

A. Create different sets of presentation templates and authoring templates for each site area.

B. Create different presentation templates and configure each site area to use the appropriate presentation template.
C. Create different authoring templates and configure each site area to use the appropriate authoring template.

D. Create different HTML components and configure each site area to use the appropriate HTML components.

Correct Answer: B

QUESTION 14

Brian created a custom action to run a custom workflow action based on a Java class that he had created and added to
his system. The Java class must implement which interface?

A. com.ibm.portal.api.custom.CustomWorkflowAction

B. com.ibm.workplace.wcm.api.custom.CustomWorkflowAction
C. com.ibm.portal.api.WorkflowAction

D. com.ibm.workplace.wcm.api.WorkflowAction

Correct Answer: B

QUESTION 15

Which one of the following DocumentTypes is invalid when using the IBM Web Content Manager API?
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A. SiteArea

B. UserNameComponent

C. UserSelectionComponent
D. HTMLComponent

Correct Answer: B
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